
 Evaluation of Industrial Revolution on Britain 

11-20-19 

• Assignment:  Consider the 4 sources that we looked at with the Industrial Revolution in Britain (1.  growth of 

railroad lines, 2.  image of the effect of the Revolution on Manchester, 3.  Cooper’s testimony, and 4.  

Knight’s statement on the effect of production of goods.    

• At this point, how would you respond with the following question?:  “Does the Industrial Revolution change 

Britain for the better or the worse?    

• 1-2 strong paragraphs (at least 5 strong sentences) 

• Make sure that you have a clear thesis statement. (using the prompt above)- “The Industrial Revolution 

changes Britain for the better.”  OR  “The Industrial Revolution changes Britain for the worse.”  

• If you need help, a sample template is below that you can feel free to utilize.   
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Sample template: 

 The Industrial Revolution changes Britain for the better/worse.  Two main reasons which show this 

are____________________ and________________  ____________________.  The text states, the following “         

“  .  This shows the following impact.   Next, the document states…”        “     .    This shows the following effect.   

 

 It is true that there were some effects which were positive/negative (Opposite of what you said in your thesis) 

(counterargument).    However,…  (rebuttal).      

 


